\EE 2654 - Quiz 2 - SPr.nq lol'j_t (/\/\ NN
lf\e muems axe ﬂ
@) Sketcl the convelut;on fz 9 3 QQLUQ“"&? W“‘AH
1 ' [ o
*

s T

.

@ — In..{vb ihtw\ ‘_+ 2 LTL 5'(33*73?‘*"9 aye co\nmc*@a{. fn Secies
with  fmpulSe  responges he & ha.

Dind the impdlse fesponse a'('

L\l‘ﬂ) ! ] ln{hj Z] .
I ) 1 > . T. L (skevchy +lne +or|-ql Saﬁs-\fma -
T e o - . R —— SR— cert T d mg
® Ske\‘c\/\, X("ﬁ = u.(\n) * ULU@ f.c O‘V\‘-'OIU*W“L “Q 2— Ste? {:UMM f" ]
. O\.V\(L cgt\le o_:gﬁfTE}‘d:a B ’ . I AN
D Fod foox god e Jon = (?3 “‘m = L') vt:) Ahi an 3>
" +c: 150
r_m sl:e\‘cl/\ nec.) P §ofvwh~- Yo may et J‘ff"fi =5
T oty
“® Wite. the 2 rranshn Wy o the stgpale X0 ‘ i \
T”“‘é'“

e e
AP st -

e it e

@ Write the z-erms
@ Xm« ?>+12 e
Lt Gz T > Y@ &m@
q Lt GEY: KD
® Ge KD

QMM Xm Jr 7‘“‘5 5 3\ iy ,.,:_'

gkmh xm R
. Sketch 4.

H

]



